

$$= 2 \int \frac{A}{3-4t} dt + 2 \int \frac{Bt+c}{t^2+1} dt$$

$$A=1 \quad , \quad B=0 \quad , \quad c=-1$$

$$I = 2 \int \frac{dt}{3-4t} - 2 \int \frac{dt}{t^2+1}$$

$$= -\frac{1}{2} \ln|3-4t| - 2 \cotgt + c$$

$$t = \frac{\sqrt{\quad} - 2}{x}$$

كوكيل تاو رالكلت :

$$ax^2 + bx + c = a(x-d)(x-\beta) \quad . \quad \text{اذا كان}$$

$$\sqrt{ax^2 + bx + c} = (x-d)t \quad \text{لا}$$

$$\sqrt{ax^2 + bx + c}$$

$$\sqrt{a(x-d)(x-\beta)} = (x-\beta)^2 t^2 \quad \text{ا}$$

$$a \left(\frac{x-d}{x-\beta} \right) = t^2 \Rightarrow x = \alpha(t)$$

$$\Rightarrow dx =$$

$$I = \int \frac{x dx}{\sqrt{x^2 + 5x + 6}}$$

تربيعا

$$x^2 + 5x + 6 = (x+2)(x+3)$$

$$\sqrt{(x+2)(x+3)} = (x+3)t$$

$$(x+2)(x+3) = (x+3)^2 t^2$$

$$x+2 = (x+3)t^2$$

$$x(t^2-1) = 2-3t^2$$

$$x = \frac{2-3t^2}{t^2-1} \quad \text{وہاں } t^2 \text{ کو } x \text{ کے لئے}$$

$$dx = \frac{-6t(t^2-1) - 2t(2-3t^2)}{(t^2-1)^2}$$

$$dx = \frac{-2t dt}{(t^2-1)^2}$$

$$\sqrt{x^2+5x+6} = \left(\frac{2-3t^2}{t^2-1} - 3 \right) t$$

$$= \left(\frac{2-3t^2+3t^2-3}{t^2-1} \right) t$$

$$\sqrt{\quad} = \frac{-t}{t^2-1}$$

$$I = \int \frac{\left(\frac{2-3t^2}{t^2-1} \right) \left(\frac{-2t}{(t^2-1)^2} \right) dt}{\frac{-t}{t^2-1}}$$

$$= -2 \int \frac{2-3t^2}{(t^2-1)^2} dt$$

$$= 2 \int \frac{3t^2 - 2}{(t-1)^2(t+1)^2} dt = 2A \int \frac{dt}{(t-1)} + 2B \int \frac{dt}{t+1} + 2D \int \frac{dt}{(t+1)^2} + 2C \int \frac{dt}{t+1}$$

$$= 2A \ln |(t-1)| + 2C \ln |t+1| + 2 \frac{B}{t-1} - \frac{2D}{t+1} + C$$

بقدرنا حسب : $I = \int \frac{Q(x)}{\sqrt{ax^2+bx+c}} dx$ $Q(x)$ كتره

$$\int \frac{Q(x) dx}{\sqrt{ax^2+bx+c}} = F(x) \cdot \sqrt{ax^2+bx+c} + h \int \frac{dx}{\sqrt{ax^2+bx+c}}$$

لتعيين الثوابت h و $F(x)$ كتره

$$\frac{Q(x)}{\sqrt{\quad}} = F'(x) \sqrt{\quad} + \frac{(2ax+b)F(x)}{2\sqrt{\quad}} + \frac{h}{\sqrt{\quad}}$$

$$Q(x) = F'(x) (ax^2+bx+c) + \frac{(2ax+b)F(x)}{2} + h$$

• تطابق بين الأجزاء كتره حسب h

$$I = \int \frac{6x^3 - x - 4}{\sqrt{x^2 - 2x - 3}} dx = (ax^2 + bx + c)(\sqrt{x^2 - 2x - 3}) + h \int \frac{dx}{\sqrt{x^2 - 2x - 3}}$$

$$= [(2ax + b)\sqrt{x^2 - 2x - 3}] + (ax^2 + bx + c) \frac{2x - 2}{2\sqrt{x^2 - 2x - 3}} + \frac{h}{\sqrt{x^2 - 2x - 3}}$$

$$6x^3 - x - 4 = (2ax + b)(x^2 - 2x - 3) + (x - 1)(ax^2 + bx + c) + h$$

$$6 = 2a + a \Rightarrow a = 2$$

$$0 = b - 4a - a + b \Rightarrow 2b = 10 \Rightarrow b = 5$$

$$-1 = -6a - 2b + c - b \Rightarrow c = 26$$

$$-4 = -3b - c + h \Rightarrow h = 37$$

$$I = \int (2x^2 + 5x + 26)(\sqrt{x^2 - 2x - 3}) + 37 \int \frac{dx}{\sqrt{x^2 - 2x - 3}}$$

$$K = \int \frac{dx}{(\sqrt{x^2 - 2x + 1 - 1 - 3})} = \int \frac{dx}{(x-1)^2 - (2)^2} = \text{arc. cos. } \frac{2x-1}{2}$$

$$\int f(\sin x \cos x) dx$$

$$\tan \frac{x}{2} = t \Rightarrow \frac{1}{2} (1 + \tan^2 \frac{x}{2}) dx = dt \Rightarrow dx = \frac{2 dt}{1 + t^2}$$

$$\frac{1}{\cos^2 \frac{x}{2}} = 1 + \tan^2 \frac{x}{2} = 1 + t^2 \quad \left(\cos x = 2 \cos^2 \frac{x}{2} - 1 \right)$$

$$\frac{2}{\cos x + 1} = 1 + t^2 \Rightarrow \frac{\cos x + 1}{2} = \frac{1}{1 + t^2}$$

$$\Rightarrow \cos x = \frac{2}{1 + t^2} - 1 = \frac{2 - 1 + t^2}{1 + t^2} = \frac{1 + t^2}{1 + t^2}$$

$$\cos x = \frac{1 - t^2}{1 + t^2}$$

$$\sin x = \sqrt{1 - \left(\frac{1 - t^2}{1 + t^2} \right)^2} = \frac{\sqrt{1 + 2t^2 + t^4 - 1 + t^2}}{1 + t^2}$$

$$\sin x = \frac{\sqrt{4t^2}}{1 + t^2} = \frac{2t}{1 + t^2}$$

$$I = \int f(\sin x) \cos x dx$$

$$\sin x = t \Rightarrow \cos x dx = dt$$

$$I = \int f(t) dt$$

$$J = \int f(\cos x) \sin x dx$$

$$\cos x = t \Rightarrow -\sin x dx = dt$$

$$J = -\int f(t) dt$$

$$K = \int f(\tan x) dx$$

$$\operatorname{tg} x = t \Rightarrow (1 + \operatorname{tg}^2 x) dx = dt \Rightarrow dx = \frac{dt}{1 + \operatorname{tg}^2 x}$$

$$\sin^2 x = 1 - \cos^2 x = 1 - \frac{1}{1+t^2}$$

$$\sin^2 x = \frac{t^2}{1+t^2}$$

$$\cos^2 x = \frac{1}{1+\operatorname{tg}^2 x} = \frac{1}{1+t^2} \Rightarrow \cos^2 x = \frac{1}{1+t^2}$$

$$I = \int P(\cos x \sin x) dx$$

$\operatorname{tg} x = t$ $\sin x$ و $\cos x$ \rightarrow $\sin x$ و $\cos x$ \rightarrow $\sin x$ و $\cos x$

$$I = \int \sin^m x \cos^n x dx \quad m, n \in \mathbb{Z}$$

م \geq 1 و n زوج $\textcircled{1}$

$$\begin{aligned} m &= 2p+1 & n &= 2q \\ &= \int \sin^{2p+1} x \cdot \cos^{2q} x dx \\ &= \int \sin^{2p} x \cos^{2q} x \sin x dx \end{aligned}$$

$$\cos x = t \Rightarrow -\sin x dx = dt \quad \text{و} \quad \sin^2 x = 1 - \cos^2 x = 1 - t^2$$

م \geq 1 و n فردي $\textcircled{2}$

$$\begin{aligned} n &= 2p+1 & m &= 2q \\ &= \int \sin^{2q} x \cos^{2p+1} x dx \\ &= \int \sin^{2q} x \cos^{2p} x \cos x dx \end{aligned}$$

$$\sin x = t \Rightarrow \cos x dx = dt, \quad \cos^2 x = 1 - \sin^2 x = 1 - t^2$$

$$I = \int (1-t^2)^p t^q dt$$

$$I = \int t^{2q} (1-t^2)^p dt$$

$$n = 2p+1$$

$$m = 2q$$

مردی ، مری م (2)

$$= \int \sin^{2q} x \cos^{2p+1} x dx$$

$$= \int \sin^{2q} x \cos^{2p} x \cdot \cos x dx$$

$$\sin x = t \Rightarrow \cos x dx = dt, \cos^2 x = 1 - \sin^2 x = 1 - t^2$$

$$\cos^2 x = \frac{1 + \cos 2x}{2}, \sin^2 x = \frac{1 - \cos 2x}{2}$$

$$\int \left(\frac{1 + \cos 2x}{2}\right)^q \left(\frac{1 - \cos 2x}{2}\right)^p dx$$

$$\textcircled{1} I = \int \frac{dx}{\cos x}$$

$$\operatorname{tg} \frac{x}{2} = t \Rightarrow dx = \frac{2dt}{1+t^2}, \cos x = \frac{1-t^2}{1+t^2}$$

$$I = \int \frac{2dt}{\frac{1-t^2}{1+t^2}} = \int \frac{2dt}{1-t^2} = 2 \int \frac{dt}{(1-t)(1+t)} = \int \frac{dt}{1-t} + \int \frac{dt}{1+t}$$

$$= -\ln |1-t| + \ln |1+t| + C$$

$$I = \ln \left| \frac{1 + \operatorname{tg} \frac{x}{2}}{1 - \operatorname{tg} \frac{x}{2}} \right| + C$$

$$* I = \int \sin^2 x \cos^2 x \, dx$$

$$= \int \left(\frac{1 - \cos 2x}{2} \right) \left(\frac{1 + \cos 2x}{2} \right) dx$$

$$= \frac{1}{4} \int 1 - \cos^2 2x \, dx$$

$$= \frac{x}{4} - \frac{1}{4} \int \cos^2 2x \, dx$$

$$= \frac{x}{4} - \frac{1}{4} \int \frac{1 + \cos 4x}{2} \, dx$$

$$= \frac{x}{4} - \frac{x}{8} - \frac{1}{8} \frac{\sin 4x}{4}$$

$$* I = \int \frac{\sin^5 x}{\cos^2 x} \, dx = \int \frac{\sin^4 x}{\cos^2 x} \sin x \, dx$$

$$\cos x = t \Rightarrow -\sin x \, dx = dt$$

$$I = - \int \frac{(1-t^2)^2}{t^2} \, dt = - \int \frac{1 - 2t^2 + t^4}{t^2} \, dt$$

$$= - \int \frac{dt}{t^2} + 2 \int dt - \int t^2 \, dt$$

$$= \frac{1}{t} + 2t - \frac{t^3}{3} + C$$

$$= \frac{1}{\cos x} + 2 \cos x - \frac{\cos^3 x}{3} + C$$

$$* I = \int \cos^4 x \sin^2 x dx$$

$$= \int \left(\frac{1 + \cos 2x}{2} \right)^2 \left(\frac{1 - \cos 2x}{2} \right) dx$$

$$= \frac{1}{8} \int (1 + \cos 2x)(1 - \cos^2 2x) dx$$

$$= \frac{1}{8} \int (1 + \cos 2x - \cos^2 2x - \cos^3 2x) dx$$

$$= \frac{1}{8} \left[x + \frac{\sin 2x}{2} - \int \frac{1 + \cos 4x}{2} dx - \int \cos^3 2x dx \right]$$

$$= \frac{1}{8} \left[x + \frac{\sin 2x}{2} - \frac{x}{2} - \frac{\sin 4x}{8} - \int \underbrace{\cos^2 2x \cos 2x}_{\frac{1}{8}} dx \right]$$

$$J = \int \cos^2 2x \cos 2x dx$$

$$\sin 2x = t \Rightarrow 2 \cos 2x dx = dt$$

$$= \frac{1}{2} \int (1 - t^2) dt = \frac{t}{2} - \frac{t^3}{6}$$

$$= \frac{\sin 2x}{2} - \frac{\sin^3 2x}{6}$$

$$= \frac{1}{8} \left[x + \frac{\sin 2x}{2} - \frac{x}{2} - \frac{\sin 4x}{8} - \frac{\sin 2x}{2} + \frac{\sin^3 2x}{6} \right]$$

$$\rightarrow \frac{x}{16} - \frac{\sin 4x}{64} + \frac{(\sin 2x)^3}{48} + c$$

التكامل العكسي :

$$I = \int f(\operatorname{sh}x, \operatorname{ch}x) dx$$

$$\operatorname{th} \frac{x}{2} = t \Rightarrow \frac{\operatorname{sh} \frac{x}{2}}{\operatorname{ch} \frac{x}{2}} = t$$

$$\frac{\frac{1}{2} \operatorname{ch}^2 \frac{x}{2} - \frac{1}{2} \operatorname{sh}^2 \frac{x}{2}}{\operatorname{ch}^2 \frac{x}{2}} dx = dt$$

$$\frac{1}{2 \operatorname{ch}^2 \frac{x}{2}} dx = dt \Rightarrow \frac{1}{\operatorname{ch}^2 \frac{x}{2}} = 2 dt$$

$$\frac{1}{\operatorname{ch}^2 \frac{x}{2}} = 1 - \operatorname{th}^2 \frac{x}{2}$$

$$\operatorname{th} \frac{x}{2} = t \Rightarrow (1 - t^2) \frac{dx}{2} = dt$$

$$dx = \frac{2 dt}{1 - t^2}$$

$$\operatorname{sh}x = \frac{2t}{1 - t^2}$$

$$\operatorname{ch}x = \frac{e^x + e^{-x}}{2}$$

التكامل العكسي :

$$I = \int f(e^x) dx$$

$$e^x = t \Rightarrow e^x dx = dt \Rightarrow dx = \frac{dt}{t}$$

$$I = \int \frac{f(t)}{t} dt$$

: ذ

$$I = \int \frac{e^x - e^{-x} + 2}{e^x - e^{-x}}$$